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SCIENCE A 0O

1. Fefa 3 1. Chlorine is
(A) 37994 wsiz (A) Oxidizing agent
(B) sefifer wsie (B) Bleaching agent
(C) Freesmy= (C) Disinfectant
(D) 3% |sf \(DYy"All the above
2. S dmians 2. Daniel cell consists of
(A) Zn 3R Cu TeRIe F =g i \(A)Zn and Cu as electrodes
(B) Zn 3R Fe 3aiagie ¥ wyq i (B) Zn and Fe as electrodes
(C) Zn 3R Si oig2re & wq A (C) Zn and Si as electrodes
(D) Zn 3R Ag SoiagIe % w7 & (D) Zn and Ag as electrodes
3. W 94 3N U fig W R oy w5 3. The work done on a body by an external
394 I yiadd ey AR T & force contributes to a change in its
(A) Teafast =i (A) Potential energy
CESES (B) Total energy
W o 1 | (C) Kinetic energy
(D) =1 Fsi] (D) Heat energy
4. amﬂwvﬁﬁaaﬁﬁ%ﬁﬁga YT dcg 4. The most electropositive element in -
2 the periodic table is
(A) ST \(By e (A) Iron (B) Copper
(C) Hifsrm (D) forefram (C) Caesium (D) Lithium
5. EEeISH AT % Sie Aled A R, V 3R 5. In the Bohr model of the hydrogen
' " atom, let R, V and E represent the
E ST ShaT oh1 Fa, Fetergi o Tifd afiy radius of the orbit, the speed of the
Wﬁgﬂwm% fCi=g: e electron and the total energy of the
i electrpn respectively. Which of the
Ht T SR AT n o AT ? following quantity is proportional to the
(A) VR (B) RE ‘2;‘;‘”%"‘ humbern ? -
\Mv (D) R/E (C) E/V (D) R/E

TG-05/C 4 o
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6. T I Merfirh e Fcferes sy
H gATEl ) g 1 120 % FUE A R |
yrfi 3R faefies goeeh i am
SECIGRR)

(A) 1:20 (B) 20: 1
{8y : 400 (D) 400 : 1

7. ATHEA eATES ) Iohlere 1 geery
aisha § srafifeg @
(A) ATTener AffRa
(B) giaeen safsrfsan
(C) ufereamu= Itfsrfsran
\(D)feese e siiamm stfiifFn

8. 3¢ 3 Ui Thel i S el
HEIT: 0.6 3 0.13 W/(m.°C) B | Farert

Hierd i $2 | 5 cm aTEA i e & e
e et grft ¢

\(A}%cm (B) 4.6 cm

(C) 30 cm (D) 5cm

9. 127°C W TH 8 cm x4 cm IR UTq
F Wi E J/s Icasi Fdl 2 | afe 3ueh

AT 3R e gl oefl R A et R
3R qeHH F 327°C T qQET A€l 2,
A Iegei 1 (Js) B

w ZE ® Ue

©) ?E 3
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The ratio of the number of turns
in primary and secondary coils of
transformer is 1 : 20. The ratio of
the currents in the primary and the
secondary coils will be

(A) 1:20 (B) 20:1

(C) 1:400 (D) 400 : 1

The process of converting alkyl halides

to alcohols involve
(A) Addition reaction
(B) Rearrangement reaction

(C) Substitution reaction

(D) Dehydrohalogenation reaction
The thermal conductivities of brick and
pine wood are, respectively 0.6 and
0.13 W/(m.°C). What thickness of brick
has the same insulating ability at 5 cm

of pine ?
(A) 23cm (B) 4.6 cm
(C) 30cm (D) 5¢cm

A rectangular metal plate 8 cm x 4cm
at 127°C emits E J/s. If both the
length and breadth are halved and the
temperature is raised to 327°C, the
rate of emission is (J/s)

27 81
—E Eraiied
(A S B) o E
10 9
©) S E D) zE
TG-05/C
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10, Ty ottt ol ek P Freqay s 36
i =) fewm & g wf fenaii 4 2
g, TR e B
\Ay g
(B) 31yeid
(C) wfeq
(D) fa=ffa

11. ﬁwf%fﬁaafiéaaﬁ‘wzmw%
(A) Fe% 40 g
(B) NTP %N, % 6 Hie

XSy % 0.2 g
(D) e % 1023 gy

12. T 2.5 kg ©IR 1 12 1 =4 1.25 kg
T A e ¥ R @ 2 | i
O T @ PR st @ | 3 sl
R TR B e Tt 37 o o R

T
(B) |
(C) Tiferst Faif
(D) Teufast s=if

13, %Wmﬁmsﬁﬁﬁﬁ?ﬁﬁ@q
T e
(A) TeEidt e
(B) BTSSR 37T i
(C) fhed w192 srewzefigmy

@) Treet 192 TR oy o
=g BT B
TG-05/C
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10. A beam of transverse waves whose

11.

12,

13.

vibrations occur in all directions
perpendicular to their direction of

motion is

(A) polarised
(B) unpolarised
(C) resolved
(D) diffracted

Among the following, the one has
highest mass is

(A) 40 g of Fe

(B) 6 moles of N, at NTP

(C) 0.2 g of silver

(D) 1023 atoms of carbon

A 2.5 kg iron ball has the same
diameter as a 1.25 kg aluminium ball.
The balls are dropped at the same time
from a cliff. Just before they reach the
ground, they have same

(A) acceleration

(B) momentum

(C) kinetic energy
(D) potential energy

The suitable reaction that wil| convert
benzene to toluene is

(A) Aldol condensation

(B) Hydrogenation and addition

(C) Friedel Crafts alkylation

(D) Friedel Crafts acylation followed
by reduction

O
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14. @@Waﬂ?mmmmm

1 T ST 3T e e @
(A) 273 (B) —
Gy =273 (D) 40
15. uﬁ:xaﬂtym%mﬁlﬁaﬁmwﬁ
STS1 T R 3 IR m 351w 5 T
SR TR, )
- (A) x+y=m (B) Xx+y>m

\UCYx+y<m D) m+x=y
16. ?&aﬁﬁasﬁt%ﬁmﬁamm

\(AY SHI 3k B B

(B) 2T et ¥ &

(C) I &, e ae
(D) e &, I B

17. Teed & AJIR, TH o Tu o &

9 ;;(w)’agmaswm, JATHR IR AR &
BAE |
(B) T 5, AT 3R i et
FEAE |
(C) TgW FoHUH W P IR 3R

AFAFEAE |
(D) HgY HATHfd AR AR g1y foa
7 % B4 ¢ |

18. AT 370] q9TIaT &
(A) Sfadeee
\(BY SIgeFE
(C) Segsrea
(D) wfdeiegsehcd

O

14.

15

16.

T

18.
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The temperature which has same
numerical value on Celsius and
Fahrenheit scale is

(A) 273 (B) —
(C) -273 (D) 40

If the nuclei of masses x and y fused
together to form a nucleus of mass m,

then
(A) xX+y=m (B) Xx+y>m
(C) x+y<m (D) m+x=y

Leclanche cell and Daniel cell are
examples of

(A) both dry cell
(B) both wet cell
(C) dry cell, wet cell
(D) wet cell, dry cell

According to Dalton, atoms of a given
element are

(A) Identical mass, size and shape.

(B) Identical mass, size and different
shape.

(C) Identical mass but different size
and shape.

(D) Identical size and shape but
different mass.

Oxygen molecule exhibits
(A) Diamagnetism

(B) Paramagnetism

(C) Ferromagnetism

(D) Antiferromagnetism

TG-05/C
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19. afz A 3i B M-y afie B, o
|A + B| = |A — B| &1 day qr7a &, ) 349

afra &1 o R
‘)(A), 0° (B) 60°
(C) 90° (D) 120°
20. Fre=ferfiad i 4 @ s dhegases avfa 2
(A) (B) Na
(CY Zn (D) Co
21. @HI YFM & o491 & d2d Ieaed 24
Fresl gard 3 7R 2 A anfeu
AT T T ama 3 S areEd

(B) B w1 eqe il @l Aretadn
(C) B Fum e 3 S Freradl
(D) &€ FeT &qHa 3T ) Areihal

22. fmafafas 8 @ - vaifus sncfia @ ?
(A) T wfafes s
(B) srsIn ufafes s
\(CY T ufifes s
(D) ufafes s
23. wifsam F1 %9 Fer 2.3 eV R | 2000 A
& fafeor @ yshilTd wae 4@ seafia
GIIsda1d &t tfeman wfas Ferl
fepat geft 7
AT 2.3 eV (B) 3.9 eV
(C) 6.2 eV (D) 3.9V
24, ¥ U IS GTAY] 8 U U s
2, 1 T SATHR
(A) G &l 8
(B) =l @
(C) wrean @
(DL e B A T

TG-05/C
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If A and B are non-zero vectors Wittt

obey the relation |A + B| = |A - B|, then

the angle between them is

(A) O° (B) 60°

(C) 90 (D) 120°
Among the following one which exhibits
ferromagnetism is

(A) Al
(C) Zn

(B) Na
(D) Co

An ideal material for making handie of

cooking vessels must have

(A) large heat capacity and small
conductivity

(B) small heat capacity and large
conductivity

(C) small heat capacity and small
conductivity

(D) large heat capacity and large

conductivity
Which of the following is most acidic ?
(A) Monochloro acetic acid
(B) Dichloro acetic acid
(C) Trichloro acetic acid
(D) Acetic acid
The work function of sodium is
2.3 eV. What will be the maximum
kinetic energy of the photoelectrons
emitted by the surface exposed to the
radiation of 2000 A ?

(A) 23 eV

(B) 3.9 eV
(C) 6.2 eV

(D) 39V

When a cation is formed from a neutral
atom, the atomic size

(A) Remains same

(B) Decreases

(C) Increases

(D) Either increases or decreases

@)
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25.

Which of the following will exhibit

geometric isomerism ?

(A) TSt (A) Styrene
(8) fefiren o (B) Cinnamic acid
(C) AfFes 3

\(D). 3 wefl

26. W WIS I11 T8 OHE A19F H, urd
%1 fedTeh SR ST Hur: 39°W aii
239°W 2 | 39°C AI9HM W 3 H1oe &
ST AT Bl

26.

(C) Lactic acid
(D) All of the above

On a new scale of temperature called W
scale, the freezing and boiling points of
water are 39°W and 239°W respectively.
What will be the temperature on the new
scale, corresponding to a temperature of
39°C ?

A) 200°W o
) (B) ‘1oaWy (A) 200°W (B) 138°W
\(CY78°W (D) 117°W (C) 78°W (D) 117°W
27. TEEM® JUfHTT & 9 § I 27. At the end of the chemical reaction,
ware | the catalyst remains
: e of . : (A) Unchanged inquantity butchanged
(A) e A A in composition
eafdia (B) Unchanged in quantity and
(B) Hr 3w # srufEfda composition
e 1 sTafEfdd wa mE A (C) Unchanged in composition but
G % A N | changed in quantity
_ (D) Changed in quantity and
\(Dy T 3iR weem 1 wfafda composition

28. Frfafgs d @ w17 fFafEfas
ATFAY Z BRI STEAl & HiY

28.

Which of the following will not react
with hydroxyl ions by nucleophilic

srfirfsrem e s 7 attack ?

(A) TTE3UTESA S (A) Diethyl ether
\(B)/sen?a THiee (B) Ethyl acetate
(C) uf¥ermrss (C) Acetamide
(D) TfEReHTREgsd (D) Acetonitrile

TG-05/C
"o
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29. U giferwr fF M u1g & wie W gEgy
37 AT o1 UGl & | 34 1400 K AT
T A G STk € W AR S @ |
qa

(A) =& teall wHe & of shren fard 2
(B) #ssT ¥HI =HeFeR fawrs am
(C) 99T 99T W gsal i & 11 Fiddl
3 =i @ am
\ (DY breaT @iz & =wehter few 2m

30. - i it werfores siffn i 7
(A) IrTIH

31. ¥ % g |
(A) o TERoT 6 A SR ST e
2
(B) GuEfsh Had earei & & |
« (G T e o A st
forga S TR B2 |
(D) T faRT01 FHUMETTG U1 2 |

32, AleH § ftrer rffsraTeiel gewy 3

(A) AT By T
(C) IEEH (D) sH
TG-05/C
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A polished metal plate has rough and

black spot. It is heated to 1400 K and

brought immediately in dark room.

Then

(A) The spot will appear darker than
the plate

(B) The spot will appear equally
bright

(C) The spot will appear darker
and brighter than the plate
periodically

(D) The spot will appear brighter than
the plate

Which is not a characteristic reaction
of benzene ?

(A) Addition

(B) Electrophilic substitution

(C) Elimination

(D) Nucleophilic substitution

Choose the correct statement.

(A) a rays have high ionization
power.

(B) Isotopes are always radioactive.

(C) B rays are deflected towards
cathode when the electric field is
applied.

(D) Gamma rays are negatively
charged particles.

The more reactive member in halogen
is

(A) Chlorine
(C) lodine

(B) Fluorine
(D) Bromine

@)
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a3, @Wﬁwﬁﬁmwﬁwmm
TR T R, 77 3¢ R F Ay 390
U W A T e ) e B
110 kmv/h ST 8 =TTl 80 9% 34w serer
F W9 A1 A R | T Tmw A 2
(A) 127 km/h (B) 110 kmvh
(C) 220 km/h (D) 144 km/h

34. HEH 6 R I weirsrerant
T @ |

(A) ST ATHR

(B) 3= Torgga swomesehan

(C) TR H d a1 i1 3ufeufay
\_(DY S AR St

35. U ZMEGIHX & WU Fved # 300
HuTE 8 3R fadios Frea # 75 HE # |
Sra fadftares Fvea 20 A B 8, 4t

Trerfies FUee § g gl s

(A) 5A (B) 25 A 3
(CY80 A (D) 6.4 kA
36. frafaflaa & @ fFe CH, - X 59 1

=y gAEar g ?
A (BYC~Br (B) C—F

(C) C—Cl (D) C—I
37. @ a7 3§ FOTES o 2

By it (B) Hrwn

(C) =it (D) FTH

141

ui¥

1

33.

34.

35.

@z

36.

37.
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Awomeninacarona level road sees
an airplane travelling in the same
direction that is climbing at an angle
of 30° above the horizontal. By driving
at 110 km/h she is able to stay directly

below the airplane. The airplane’s
velocity is

(A) 127 km/h (B) 110 km/h
(C) 220 km/h (D) 144 km/h

Sulphur exhibit variable Valency due
to

(A) Bigger size

(B) High electronegativity

(C) Presence of d orbital in sulphur
(

D) High ionization energy

A transformer has 300 turns in
its primary coil and 75 turns in its
secondary coil. When the current in the
secondary coil is 20 A, the current in
the primary coil is

(A) 5A (B) 25 A

(C) 80A (D) 6.4 kA

Which of the following CH; — X bond
has the highest polarity ?

(A) C—-Br (B) C—F

(C) C-Cl (D) C-1

The negative electrode in lead acid
battery is

(A) Iron (B) Lead
(C) Silver (D) Carbon
TG-05/C
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38. A metal ball with the momentum mv
= m@ iiage HT;QHHTQWEH i mmmm strikes a wall and bounces back. The
§ &l 813 : change in the ball's momentum 1S
39 T & a7 mv T FEad g ideally
B (A) 0 (B) mv
(A) O (B) my.
(C) 2mv (D) —2mv
(C) 2mv (DYZ 2mv

. . ‘”
fafafag SR FE 39. Which of the following substrates wi
e * 8 %e-d give free radicals under appropriate

fearferart < sfonfa e Weeher 371 7 conditions ?
(A) FTemiEr (A) Alcohols
(B) IeHIEH olTsS (B) Alkyl halides
(C) b4 (C) Alkenes
Tt (D) All of the above
40. 8 kg F9HM dTci U UAfafam sk d | 40. A 10 kW drilling machine is used
10 kW Il g i a @e a1 | T8 to drill a bore in a small aluminium
zﬁaa;{ﬁsso%f?aayﬁammmﬂqaﬁ block of mass 8 kg. Find the rise
fer in temperature of the block in
T'm .
:}m wf?jg?gm' ﬁﬁ@@ﬁig ami,l 2.5 minutes, assuming 50% power is
;ﬁ%% 1 TaT TR | (Q?{ﬁﬁ?m 1 used up in the heating machine itself or

lost to the surroundings. (Specific heat

a9 =0.91Jg'°c1) of aluminium = 0.91 J g-T°C-1)

(A) 103°C (B) 150°C (A) 103°C (B) 150°C
206°C (D) 155°C (C) 206°C (D) 155°C
41. @a@mmwmca@mm%lw%ﬁ 41. An object's temperature is raised by
ﬁr&aquﬁw&wmmqgﬁq% 150°C. The resulting increase in its
absolute temperature is
32K (B) 150K (A) 32K (B) 150 K
(C) 180 K (D) 373K (C) 180 K (D) 373 K
42, Gi?fﬁl?; e stehieia S 1 g 42. The catalyst used in the manufacture
3(‘§Iaf;

of methyl alcohol from water gasis
(A) ZnO + MnO,

(B) Cr,0, + MgO

(C) ZnO + Cr,0,

(D) Ca0 + CrO,

(A) ZnO + MnO,

(B) Cr,04 + MgO

(C) ZnO + Cr,0,4
\(9/ Ca0 + CrO,

TG-05/C
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43. Wﬂﬁ? Afire .. ﬂ'ﬂ'a g 43. lonic compounds dissolve in
(g) ﬁgi‘?maalzﬂ (A) Polar solvents
(C) ESIRED (B) Non-polar solvents
\ED)/) ;' '_5”5‘5” ERIEED (C) Organic solvents

(D) Non-aqueous

44, hHIE AT & 2T % v & v g
EISESIG laﬁmﬂqmqgg%h@

44. A body is released from the top of
the tower of height h metre. It takes

E § G$gﬁ? I 1R | T/2 UehS Wy T seconds to reach the ground. Where
T d8 T9S hal o1 ¢ was the body at time T/2 seconds ?
(A) SHF A h/2 m ™ (A) at h/2 m from the ground
(B) ST & h/4 m ™ (B) at h/4 m from the ground
(C) s 3 3h/4 m W (C) at 3h/4 m from the ground
b (D) depends upon the mass and
Mg h SodHTH 3ﬂ-{ WI L8 ﬁ-‘ﬁ—{ volume of the body
45. p—nSEYH SHATS % AN H IehH AT 45. In the case of p — n junction, diode at
% I=d O W 9N a1 9 Ja&dl § | SR high value of reverse bias, the current
ST dieedl & 99 & FEd © rises sharply. The value of reverse
e e
(B) SIH-313 e (B) Break-down voltage
CY T AT Frezdl (C) Cut off voltage
(D) YA FTeedl (D) Inverse voltage
4. Trfafaa Dffw 1 IUPAC TW & 46. IUPAC name of the following compound
is
NO, NO,
OCzH5 OCsz

\ LAY 1 -zl 2- AT g e
(B) 2-zerfarefl-1-ATgZ AT EH
- (C) 1-zuTaR-2- AT ETgAAe e
(D) 2-3erfrefl-1 AT T e e

0 13

A) 1-ethoxy-2-nitrocyclonexane
B) 2-ethoxy-1-nitrocyclohexane
C) 1-ethoxy-2-nitrocyclohexene
D) 2-ethoxy-1-nitrocyclohexene

TG-05/C

—_—
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47. uF fig 4 fime 3 61°C A 59°C a% 391

48.

49.

50.

B 2 3ik 6 fime & 51°C & 49°C AT
2, A 39 H& H dIHH 8
(A) 30°C (B) 25°C

\(945%: (D) 20°C

UF M & THhel & ufed o el A
3750 mm 2 | 39 ufgd & foru &R &1
TR S @R BiT 4w T 2, e
o oz ufed § ot @ fee & 9@ | Ak
20°C W A & A& SqTH 3737 mm
&, @ 2R 1 fohe g2 a% s 3 Al
oo ae adt ot e 39 7 soura & e
AR F IH R 1.2 x 105 °C |
290°C (B) 20°C
(C) 310°C (D) 270°C

a’ru‘@f?ﬁﬁmm:maﬂtﬂzéw
3 T HET: Py @szﬁl‘gm
%mmmmmmm

(94/9,) B
B 1 p1
“(//::32

RyR,
P1P2

2
PR

2
PRy

Ripo
C
©) Ao,

a7 arft § Ted geehl urg B

(AY'Li
(C) He

(B) Sn
(D) H

TG-05/C
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A body cools from 61°C to 59°C in
4 minutes and from 51°C to 49°C in
6 minutes, then temperature of the

room is
(A) 30°C (B) 25°C
(C) 35°C (D) 20°C

A wooden wagon wheel has an outside
diameter of 3750 mm. The iron tire
for this wheel is deliberately made
smaller so that it can be shrunk in
place to be a tight fit. If the tire’s inside
diameter is 3737 mm at 20°C, the
temperature to which it must be heated
to fit over the wheel ? The coefficient
of linear expansion of the steel is
125109 /F0
(A) 290°C

(C) 310°C

(B) 20°C
(D) 270°C

The radii of two planets are respectively
Ry and R, and their densities are
respectively p; and p,. The ratio of
the acceleration due to gravity (94/9,)
at their surface is

PR, R

X2 p

A) B 1M1

: p2Fl12 = Rapo
Ripo R:R,

C D

© Ry e

The lightest metal in the periodic table
is

(A) Li
(C) He

(B) Sn
(D) H
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51. 8000 km <t Brsut a1t 31 ¥ wm g
geeft 3 B A1 R 1 9o & 99 g g
FIATR (g = 6.2 m/s?)

(A) 0.90 km/s
(C) 8.9 km/s

(B) 7.0 km/s

D)O7 ks

52. Tamfctiad 4 | -3 At o Rmpg
H eHd § 914 & 7
(A) Higm
(B) 33

THieafesse

53. W& ¥ ATFNSH F1 eRiHeRsE ?

(A) sp® waa{;ﬁ
(C) sp (D) sp?d

54. It T F aeq i SR g B ol B
(A) Feq-ti o fomeft +ft e <h fere e
(B) STl BIohel weTs % I § HH
Fhad
/mmmasmama@
a2
(D) a@—aﬁ%mﬁwﬁi%ﬁﬂ
5. Yoy # wgEd A R

(A) TEEISH
(B) g SIHAT
(C) 33 T TS

\ (D)3 Tt
0

15

51

52,

53.

54.

55.

GET IT ON
Google Play

A satellite orbits the earth in a circle of

radius 8000 km. At that distance from
the earth, the velocity of the satellite

is (g = 6.2 m/s?)
(A) 0.90 km/s
(C) 8.9 km/s

(B) 7.0 km/s
(D) 0.7 kmV/s

Which of the following compounds
undergo inversion in their configuration ?

(A) Methane
(B) Ethane
(C) Ammonia

(D) Acetaldehyde

The hybridization of oxygen in water
is

(A) sp®
(C) sp

(B) sp?
(D) sp2d

A convex mirror forms an enlarged

image of an object

(A) for no values of object distance

(B) when object distance is less than
twice the focal length

(C) when object distance is more than
twice the focal length

(D) for all values of object distance

The compound used in refrigeration
is
(A) Nitrogen
(B) Liquid ammonia
(C) Liquid ammonium chloride
(D) Liquid fluorine
TG-05/C
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56. Stee ¥ wie farst 3w v arfed A
# 10 3 40 F wfRAE] H) SreT TR |
He wars 1 R A e e |
31« <1 M} & wfedigl &t g | @16
e e R | 7% Tgen e L R AL R
fnmne 1 =
< 1 1

A ey
(B) I=L
(C) L-7/=69cm
(D) I-L=60cm

57. @@l N, O, F 3R P & fargga swomedehdl
%1 T8 FH B
(A) F>N>P>0
(B) F>O>P>N
F>O>N>P
(D) N>O>F>P

58. 25 m/s ¥ TEH SHETa @ 92 ¥ A
T 35 m/s TTd A faudia foem § St 2 |
gfa yfererd 0.010 s % fow o, @t wfdema

% G9g 39 SGaid 1 501 Y1 IS |

(A) 2500 m/s?

(B) —6000 m/s®

(C) —3500 m/s?
000 m/s?

59. wsirgeh TR I A3 THATIRaT g
IR &M

(A) o-TgeI-SSIIgeh 3
(B) m-AT32] ASIEh ITFA
(C) p-Tggl sISIseh T

(D) I &+l

TG-05/C
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Two resistances 102 and 4Q are
connected in the left and right gaps
of a Wheatstone’s meter bridge. The
balancing length /' is noted. Now the
resistances are interchanged in the
two gaps. The new balancing length

‘L’ is noted. Then

I 1
A —=—
() L 4
(B) =L
(C) L-=/=69cm
(D) 1—L=60cm
The correct order of electronegativity
of the elements N, O, F and P is
(A) F>N>P>0
(B) F>O>P>N
(C) F>O>N>P
(DY'N>O>F>P

A baseball is moving at 25 m/s.
When it is struck by a bat moves off
in the opposite direction at 35 m/s.
If the impact lasted 0.010 s, find the
baseball’s acceleration during the
impact.

(A) 2500 m/s2
(B) —6000 m/s?
(C) —3500 m/s?
(D) 5000 m/s?

Nitration of benzoic acid gives following
major product

(A) o-nitro benzoic acid
(B) m-nitro benzoic acid
(C) p-nitro benzoic acid

W/of the above
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60. AT T T4 1 4 m/s F am @ 3
ThehT STl 8, ) fofaett Ses
g =10 m/s? fifsg |
(A) 4m \@Va/m
=) 1m (D) 0.4m

61. ?mﬁmmm

# 3R
3T g
T F gt 7

(A) T9H F
(B) disaT d
(C) TTUHH 3R Higan &

NPV ok

62. m ZATH F U fue S wee avad
12, 319 Tge fefa & o 8 | 3w
ane
(A) I
(B) 3TferRam
(Cy T fean W @ A
(D) ITda | & HIS Tl

63. o ETEEISH A ! R TR |
Afoa ST a Sl STl 8, e
(A E. Sl & 31 KE. 92l R
(B) P.E. Hed & 3R K.E. F&di &
(C) P.E. 37T K.E. 21 igd &
(D) P.E. 3R K E.3H 9ed §

64. THHYI UTg 3 RO S S
g
(A) BT JATHER
(B) 3uetey d FA
(C) T2 A A
D sl
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If we throw a body upwards with
vglocity of 4 m/s, at what height its
kinetic energy reduces to half of the
initial value ? Take g =10 m/s?

(A) 4m (B) 2m
(C) 1m (D) 0.4m

Nernst equation relates electrode
potential with

(A) Temperature

(B) Concentration

(C) Temperature and concentration
(D) Temperature and pressure

A body of mass m that is undergoing
simple harmonic motion passes through
its equilibrium position, its velocity is
(A) zero

(B) maximum

(C) half of its maximum value

(D) none of the above

When hydrogen atom is raised from
the ground state to an excited state
(A) P.E.increases and K.E. decreases
(B) P.E.decreases and K.E. increases
(C) Both P.E. and K.E. increases
(D) Both P.E. and K.E. decreases

Transition metals form complexes due
to

(A) Small size
(B) Available d orbital
(C) Large ionic charge
(D) All the above
TG-05/C
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65, 1:2: 3 3T & wfede e ol A
ORI T s 2 | 3 s
A = el w56 o A &
(A) 1:2:3
(B) 2:3:1
\}8)/3:2:1
(D) 6:3:2

66. FHNIIcESH & I239 ¥ UH Y M e
wE gt F R g g A gae |
ST STaT & | 318 sree st e
el 9H B U H1TE o ger ol 8, at
Icfoia FrRIsaaH 1 ftepay st
el arft
NUVERiE

. BYTE A 116
(C) TS "M & g
(D) H& WA & =

67. fr=fefiaa 34 4 foma smafas &

gaifus 2, 98 8

AR) NaCl (®) KC
(C) LiCl (D) CsCl

68. e aad i % fee fe 8 |
AT e & ¢
(A) STecd
(B) e 5
~C) e e
(D) T
TG-05/C 18
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67.

68.

(VAR

Three resistors having resistances in
the ratio 1 : 2 : 3 are in parallel. The

current through the resistors are in the
ratio

(A)1:2:3
B)2:3:1
(C) 3:2:1
(D) 6:3:2

A metal surface is illuminated by a
light of given intensity and frequency
to cause photoemission. If the intensity
of illumination is reduced to one
fourth of its original value, then the
maximum kinetic energy of the emitted
photoelectrons would becomes

(A) unchanged

(B) 1/16'™ of original value

(C) twice the original value

(D) four times the original value

Among the following, the one which
has maximum ionic character is

(A) NaCl (B) KCl
(C) LiCl (D) CsCl

Which of the following is not essential
for the simple harmonic motion ?

(A) Inertia
(B) Restoring force
(C) Material medium
(D) Gravity

————-—d
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69. T TG oI A B
(A) 1.6 x10°24C
(B) 1.8x107'°C

Sy T6x 10719 C

(D) 1.6x 10717 C
70. AT ST ekl &m g TR A ¥
By e
(B) I
(C) Tiegersh
(D) FirgehT
Hi&A! H STEt T g1 Tq I ZHS| !
& Zhe @ arferh deT BT ©

W@H@mmm%
(B) UTg A AFE! et FT HATAH &

71

(C) o1 & A AT STea o1 TleH
Fl B

(D) TR AR EIT T e 3 e &

72. FAdd@m-wFFA TR 7

(A) ITETT A o6 ST foefiarch det 1 3

Srrafa e s s 2 |
By T Srefiem & et &

IR |

(C) =r ¥ fore ferarer et g 2 |

(D) UeT I =TS] A F9 ITeH! A p.d.
4 emf. G AFEA |
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The charge of an electron is
(A) 1.6x1024C
(B) 1.8x10°19C
(C) 1.6x10°19C
(D) 1.6x 107" C

The substances which are attracted by
the magnetic field are

(A) Diamagnetic

(B) Paramagnetic

(C) Ferromagnetic

(D) Ferrimagnetic

Outdoors on the winter, why does a
piece of metal feel colder than a piece
of wood ?

(A) Metal is a good conductor of heat
than wood

(B) Wood is a good conductor of heat
than metal

(C) Wood conducts heat faster than
metal

(D) Both the metal and wood are bad
conductors of heat

Which of the following statements is

not correct ?

(A) Asecondary cellmay be recharged
after use.

(B) A nickel-cadmium cell is an
example of a primary cell.

(C) AlLeclanche cellis suitable for use
in torches.

(D) When a cell is being charged its
terminal p.d. exceeds the cell
e.m.f.

TG-05/C
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73. waifye fawga gATene g @
CAYF @) Cl
(C) Br (D) |

74. w Hiw fw § o # @ g gfemias
i€l it Tger a8 0.25 m G @ 7
(A) 19,30
(B) 7/30,7Q
(C) 250,750
(D)2, 3Q

75. WeRAU U1 379 Afireni # quria @
(A) s 59
\ (B) FEGATS 99
(C) =nfees 519
(D) I F ITTEEINSTS 54

76. U &EIoq TehH o fore Iea Tifcrehl o6 9om
a2
(A) du =W
(B) du=0

\(C)ydu=— W

(D) du=—8H +2 W
77. 31794 Groft § || T Tl Fad 8
(A) STl UTgY
(B) HHesheltsa 319 ¥Tg
(C)
(D) HsFHOT TGY
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The most electropositive halogen is

(A) F (B) ClI

(C) Br (D) |

For which of the following pair of
resistors, the balancing length is not
0.25 m in a meter bridge ?

(A) 1Q,30Q
(B) 7/3Q,7 0
(C) 250,750
(D) 20,30

Transition metals in their compounds
show

(A) lonic bonds

(B) Covalent bonds

(C) Metallic bonds

(D) lonic and coordinate bonds

The first law of thermodynamic for an

adiabatic process is
(A) du=8W

(B) du=0

(C) du=-38W

(D) du=—-8H+28W

The 1l group elements in the periodic
table is known as

(A) Alkali metals

(B) Alkaline earth metals
(C) Lanthanides

(D) Transition metals
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78.

79.

80.

81.

The wavelength in the bright-line
emission spectrum of an element are

(A) characteristic of the particular
element

(B) the same for all the elements

(C) evenly distributed throughout the
visible spectrum

(D) different from the wavelengths in
its dark-line absorption spectrum

Which of the following will not give a

carbocation as an intermediate ?
(A) Ethyl magnesium halide

(B) Methyl bromide

(C) Vinyl chioride

(D) Ethanol

The Azimuthal quantum number for

p and f orbitals are respectively

(A) 0and 2

. (B) 1and 3

(C) 1and 2
(D) 2and 3

The cell reaction of a secondary battery
is
(A) Reversible
(B) Irreversible
(C) Equilibrium
(D) Endothermic
TG-05/C
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82. LToJ;o &t fomr, et b SR TR
R e, J7m fergereicran qarfan 2
(A) LT
\By T2 T-2
(C) L2712
(D) LT
83. ek Selfeh fiven 3 Argdiem o1 YT e
H SR g R
(A) Li NBLK”
(C) Na (D) Cs
84. af m, 3R m, 5 % & IWE r, 3
r,, e 3 e et f gedt 3 W
&, 1 37 el 3T =1 g ?/Vj 2
oy ®) o
© © &
g5, ol dafr saefa, sroeadm
3N TEEaSt dUEd B ?
(A) NaCN
(B) NaCl
(C) NaNC
\@/Naor-l
TG-05/C
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1

The dimension of - e where 1
0

represents vacuum permeability and

€, represents vacuum permittivity

The metal used to detect nitrogen in
an organic compound is

(A) Li (B) K

(C) Na (D) Cs

If two satellites of masses m, and m,
are revolving around a earth in a
circular orbits of radius ryand r,, then

the ratio of their orbital velocities M,

is Vo
3 r

® Ve ® |2

() rri D) 2
2 n

Which of the following contain ionic,

co-ordinate and covalent bonds ?
(A) NaCN
(B) NaCl
(C) NaNC

(D) NaOH

8¢
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where Mo
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nittivity
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87.

88.

89.

R@’)‘Tﬁ%ﬁﬁmﬁ@agma
g1 FA & TR F A1 1000 =
wfeie 40fl 69 3 e IR | Ry g

(Q#) grm
(A) 1000 \(BY1100
(C) 800 (D) 900
7fe el 1 50 4 08 & At 7 3
3R e T R, @ Tt % et ay
F TAH A F foTe W w1 sty
ST FTAT R | Geaft ) Heg T T
FF 11.2 km/s T |
(A) 5.279km/s
3.75 km/s
(C) 9144 km/s
(D) 3.865 km/s
d =i acd 8
(A) &+t g
(B) et a7eTgy
(C) &Y 3R 37y

\(Dy STege

TS ¥ gedd a9AH % fou Fa-T
omirer qge frar sman g 7

(A) F= ¥ 7

(B) T eI

\(Cy ety emirfiet

(D) Ary-forega (emitgeragi) ermifet
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86. When a resistance R connected in

87.

88.

89.

series with a galvanometer of resistance
100 ), it acts as a voltmeter. To double
the range of the voltmeter, a resistance
of 1000 Q is to be connected in series
with R. Then the value of R is (in Q)
(A) 1000 (B) 1100

(C) 800 (D) 900

If earth has a mass nine times
and radius twice that of the planet
mars, calculate the maximum velocity
required by a rocket to escape from

the gravitational field of mars. Take
escape velocity on the earth’s surface

to be 11.2 km/s.

(A) 5.279 km/s
(B) 28.75 km/s
(C) 9144 km/s
(D) 3.865 km/s

The d block elements are
(A) All metals

(B) All non-metals

(C) Metals and non-metals
(D) Metalloids

Which thermometer is preferred for

rapidly changing temperature ?

(A) Liquid in glass

(B) Gas thermometer

(C) Resistance thermometer

(D) Thermoelectric thermometer
TG-05/C
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«A»/z)w
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(B) 3- STHtef

(C) 2, 4-srEamTedA
(D) 2, 4-6-TrgmTAe

91. VeaTerl TRY o IuF g fore A foRan

mm%m

(B) WM & forg
(C) =% sl 31 %3 & T
(D) ToERI=IfET & frg
92, dleEd ¥ H YT W BaTel iR
?
(A) U=
(B) 379=

(D) &

93. U fo9e a w=wwr & o A= < 3w s @
2| U et foawe 3w e e ®
g w1 oo fore & form arredft =) o
s W fer e ed 1, wam:
fegm

(A) 9.9

(Byg-ag-a

(C) g-—a, g
(D) ag
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Reaction of aniline with excess of

bromine water gives

(A) 2-Bromoaniline

(B) 3-Bromoaniline

(C) 2, 4-Dibromoaniline
(D) 2, 4-6-Tribromoaniline

The alternating current cannot be used
for

(A) heating
(B) lighting
(C) generate mechanical energy

(D) electroplating

In the voltaic cell, the reaction occur at
anode is

(A) Oxidation

(B) Reduction

(C) Elimination

(D) Addition

The lift is moving down with an
acceleration a. A man in the lift drops
a ball inside the lift. The acceleration
of the ball as observed by the man in

the lift and a man standing stationary
on the ground are, respectively

(A) 9,9

(B) g—a,g-a
€) g-a,g
(D) a, g
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B A H o 94. The difference in isotopes of an
(A) STUH GE&AT element is
.
x(B}’fWTﬂ‘H@T (A) Mass number
(VC) Wﬁm (B) Atomic number
- (C) Number of electrons
©) (D) Number of protons
o o K w1 95. Among the following, the conducting
(A) B form of carbon is
(B) WA (A) Diamond

(B) Charcoal
(C) Graphite

(C) TPTEE
\(W ikl (D) All the above
96. Frifcia HAFH-MAMHFMIL? | 95 Which of the following is most acidic ?

-

\ (W) FFT (A) Phenol

(B) TS HAehIEISA (B) Benzyl alcohol
(C) TTEFARHIAIA (C) Cyclohexanol
(D) m-FARIEHATA (D) m-chlorophenol
97. p -type =TS BT & 97. A p-type of semiconductor is
(A) FrmafiE (A) uncharged
\(B) s Teqe ATEfTd (B) +vely charged
(C) HOTTcHe SATEfRTd (C) — vely charged
(D) ¥t 0°C W Frafera (D) uncharged only at 0°C
08, frmfeifigd # 8 #1-w1 S TEHITERTE | 98, Which one of the following molecule
TR iR it ST e TR is less reactive towards electrophilic
27 aromatic substitution ?
(A) e (A) Aniline
(B) 2T (B) Toluene
@E\Z’m (C) Nitrobenzene
(D) frta (D) Phenol

x 25 TG-05/C
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99. TR o H wa wh eyt e 1 FEm
(V) B (V,) 7% Fewan B, 7@ R T
1 BT 8

(A) VyMy /P
weﬁi,vz
©) P(Vy-Vy)
(D) (V4 +V,) P
100. ¥gTa WiedY A1 Mehed T F T
e s v i v et & w9 0
29 IUFHT T IFANT Bl @
(A) TR
(B) ArceHieX
&
(D) 3 =ft

101. 399 % Frafafaq sgeoat § 9 foFwet
YT TN @ 7
(A) C,HsF
(B) C,HsCl

(C) C,oHsBr
@C/QF"SI
102, TEETOE] i ERSH e A A e hr

Brare ?
(A) Tt Ffg g e o e &
(B) T A wht BT TR T F
C Zeil feurfa o FR E
(D) ATRAT IT FHAH

TG-05/C

R

99. Work done by an ideal gas when it
expands from volume (Vy) to (Vy)
under constant pressure is

(A) V{V, /P
(B) P V,V,
(C) P(V,—Vy)
(D) (V4 +V,) P

100. In Wheatstone bridge method of finding
unknown resistance or inductance, the

instrument used as null detector is
(A) Ammeter

(B) Voltmeter

(C) Galvanometer

(D) All of these

101. Among the following derivatives of
ethane, the one having the highest
boiling point is
(A) C,HgF
(B) C,HCI
(C) C,HgBr
(D) CoHgl

102. The combination of atoms take place
due to

(A) Acquire stability by increase in
energy

(B) Acquire stability by decrease in
energy

(C) Acquire high energy state

(D) Acquire instability
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104.
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< 91g il B % 3 R’ ;) 100°C 3N
110°C M9 W S91g @1 T ? | 3y
B! H 1 FETR 1T 4.0 JJs YR 7oy

? 197 38 B % 2 Rl 3 2000C iy

210°C THMH TSI W@ S, Trwyy
VAT 1 R Bh

WJ/ s

(C) 44.0 J/s

(B) 4.0 J/s

(D) 16.0 J/s
ST - e TR 3 sientq asfi o
Fﬁﬁﬁm\mgﬁm% |

W{m\%ﬁﬁw

105.

106.

O

(B) SeiagITihieteh e
(C) g tfsehet womredt
(D) FTaTchera geaadi

e Ffeere S < vl = suam e
9 8 AT g9 H U Yoo gAn o
ferar sma % 1 3| vt & 30w B9 aren
& B

(A) 3w S
(B) 31 o ¥ii¥ # Afersran
(C) T e 3 =pm
9 % 99 (Fieq) | iy
Io AU W AFEfAE I F gy
el iR e B s i

I TS ?
(A) MnSO, \(By MO,
(D) Mn,0,

(C) MnSO,
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The two ends of a metal rod are
maintained at temperature 100°C and
110°C. The rate of heat flow in the
rod is found to be 4.0 J/s. If the two
ends of a metal rod are maintained at
temperature 200°C and 210°C, the
rate of heat flow will be

(A) 8.0J/s (B) 4.0 J/s

(C) 44.0J/s (D) 16.0 J/s

Chlorination of benzene under
photochemical condition takes place
by

(A) Nucleophilic substitution

(B) Electrophilic substitution

(C) Free radical mechanism

(D) Carbocation intermediate

A string of certain length used to whirl
a stone in a vertical circle with certain
velocity. The tension developed in the
string will be

(A) same along the circle

(B) highest at the top of the circle

(C) least at the top of the circle

(D) highest at the bottom of the
circle

The autocatalyst formed in the reaction

of acidified potassium permanganate

with oxalic acid at high temperature is

(A) MnSO, (B) MnO,

(C) MnSO, (D) Mn,0,

TG-05/C
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I T
- 107. An autocatalyst is . —_
HO AT | (A) One which speeds up the catalyst ;
(A) < 3 o i 1Tt i e © " action
(B) aHfifirn & e # & v I (B) One of the products of a reaction
Wi i a1 2 acts as a catalyst
(C) it % & e 3w i Wil (C) One of the reactants act as 113.
AR catalyst
(D)1 s 3o & wif w3 (D) Both the reactants act as a \
™ 238 catalyst
108. 3y T AR & W oafeym s § | 108. Oncontinuous exposure to air, sodium
uitafda 8 S 2 finally changes to
(A) NaCIH (B) Na,CO, (A) NaCl (B) Na,COj, 114,
\(O,0 (D) Na,0, % (©) Na,0 (D) Na,0,
109. wmmﬁqlaﬁﬁmﬁm% 109. The weakest of the four fundamental
\Eym interactions is the
) (A) gravitational
ﬁqﬁ 3 (B) electro-magnetic 115.
© wqf (C) strong
(D) =R (D) weak
110. Frafafed & smug FET 2 110. Impossible orbitals among the following
A) 2s P
(c) 3f y Sk S
©) 4d (C) 3f (D) 4d
1. R ;;:ﬁ?{ S Hewh fiw T’ | M1 1fP,Q,Rands represents resistances \
‘;{ETT. R Fewm fi of 4 arms of the Wheatstone's bridge, 116
A I A 2 then the sensitivity of Wheatstone' '
(A) P=Q=R>S Pridge will be maximum when
\(B)’P-=Q=R=S (A)P=Q=R>S
(C) P>Q>R>S (B)P=Q=R=S
() P<Q<R<S 1 Poin g
TG-05/C O P<a<n<s L
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(NI
112, STTgeIeH e T e

F 17 v gfesrrl) whieqor 2 |
(A) — COH, '(B) —CH,
(C) ~CONH,  \(Dy<"COOH

113, W& 1 kT A S T ghg

Tt ?

By e A

(B) St 34t 1

(C) et 5l ofi it &

(D) 314, zal afk i
114, A gecft it g & o o1 o gt

Va7, A s o it srafy gnf

(A) Vood Va ad

(C) 1/8 ¢ (D) 11699
115, T teArend] ward <t afiwra sy 3

(A) forre i & suer

(B) ferresr foeraier a1 et

(C) Torareq Freieh o Yo FHTguTeit

\ (D)-Frae Feraien o ot
116. fofipm wegHifrm Tegse & ifufmn
mmmam} A LU
(A) FsfH
(B) SSTset Acehiardd

-

(C)
\(D)K’zﬂaﬁ%qﬁ

0

o)
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112,

113.

114,

115.

116.

GET IT ON
Google Play

lodoform reaction is a confirmatory test
for compounds having

(A) - COH, (B) - CH,q
(C) ~ CONH, (D) — COOH

Heat transfers by the process of
convection occurs

(A) only in liquids
(B) only in solids
(C) only in liquids and gases

(D) in solids, liquids and gases

If the earth is ¥4 of its present distance
from the sun, then the duration of the
year would be
(A) Y2 year
(C) 1/8 year

(B) V4 year
(D) 1/16 year

The mean life of a radioactive substance
is

(A) Equal to disintegration constant

(B) Reciprocal of disintegration
constant

(C) Directly proportional to
disintegration constant

(D) Multiples of disintegration
constant

Benzoic acid on reacting with lithium
aluminium hydride gives

(A) Benzene

(B) Benzyl alcohol
(C) Toluene

(D) None of the above

TG-05/C
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17, Th e sufer wom gerd & 117. The cathodic material present in dry | 122
cell is '
(A) MgO, Wo *\ (A) MgO, (B) MgO
(C) MnO, (D) Zn (C) MnO, (D) Zn
118. Pifofaq 3 @ #m-ur e = T | 118, Which one of the following will release
I BLED Ham 7 ammonia on hydrolysis ?
\g/\)/ﬂﬁ?flﬁiﬁq (A) Nitrobenzene
(B) wHTemse (B) Acetanilide
(C) INmTES (C) Benzamide
(D) T sisfue (D) Phenyl benzoate
119, f el ST &1 Uk SR o, 3f e A converging lens of focal length f is
ok f S £ 3 placed in contact with a diverging lens
T o % AT of focal length 3f. The combination is
TR | EASE § (A) A diverging lens of focal length
; g § i3 3f/2
Wh) BE e o (B) A converging lens of focal length
\@yzﬁﬁaémémsﬁmﬁﬁa 2f

(C) 3f Wil ST oh1 S| <l
(D) 3f/2 Biehel TS 1 SRR <id

120, Arrenss tfufden % fere Freforfea # @
HT-F1 T I & ¢

(C) o feferam 1 3creA
Y BIESISH 1 I
TG-05/C

(C) A diverging lens of focal length 3f

(D) A converging lens of focal length
3f/2

. Which of the following is an example

for addition reaction ?

(A) Friedel Crafts reaction
(B) Aldol reaction

(C) Bromination of phenol
(D) Nitration of benzene

. The energy that heats the sun has its

origin in
(A) radioactivity
(B) nuclear fission

(C) the production of helium from
hydrogen

(D) the production of hydrogen fro™
helium

0
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( (VY A R
122, Aefoea # 9 = R e adie | | 122 Among the following one which does
(A) NF \’ not exist is
| B) SbF ) N
’ Vg (B) SbF,
C) PF
(C) PFg (C) PF,
(D) AsFg (D) AsFg
123. Heeflg & arrad figm & SIER @eqi | 128. According to Mendeleev's periodic law,
F ifas 3 Tt fastvand sy the physical and chemical properties
Tl WW% | of elements are periodic functions of

their
\(A)-T] e

(A) Atomic numbers

(B) 9] 7R (B) Atomic weights
(C) 3o it " (C) Number of electrons
(D) YN &6 gET (D) Number of protons

124. = Higen R 9ol ) gag WEeAmE | 124. A women whose mass is 60 kg on the

60 kg &, I8 gt it fisen aﬂ:ﬁﬁm earth surface is in an spacecraft at an
F FIE g 7afemm & AR B | 3T altitude of two times the earth radius.
TN 98 & Her mass there is

M kg (B) 15kg (A) 6.7 kg (B) 15kg

(C) 20 kg (D) 60 kg (C) 20 kg (D) 60 kg

125. 90°F R T A AleF aem @ | 125. Two pendulums oscillate with a
% | gfy 378 ¥ T F1 A9 I 2 Fe constant phase difference of 90°. |f

3 time period of one of them is 2 sec.,
%’ at ac?ﬁ W e then period of the other is

(A) 2 8FE By 4 dse (A) 2 sec. (B) 4 sec.
(C) 18Fs (D) 6 ¥ehe (C) 1sec. (D) 6 sec.
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3. wer-yfe i el frinfa % sifafees, forell off
et & el ) #7800 ww-gfe ¢ 4
smardt | s @) g -gfee i 3yen i e o
IR~ 1 e A F Fraae et T |

4 3fi Y 125 gyl & Io A # | gofi wee sifard
B | ot W Fore TETOeR 81 e o s |

5. IT-T7% ® WA & qd o] Iw-we w g
eyl e ) sargds 93 |

6. arseff =t fow g = farepedl § & o afd Sy
oo =1 =7 % OMR itz d Sat-v=e 4 fau 1y

frdwrgam s R )

7. Torelt oft aRtfefa § wea-gfce o1 918 off s
3T AL FATR |

8. apveff wlier w7 # wawr ux & SAfafas @@ a1
fora #1% 3= Hrre 78 ardl | 3fe FE syt
F1¢ afafee s, e, T, Feigoet, TS
e, HiaTEe B 3AMfe 3793 Ty e vaw 1 @
a2, a1 38 i wred & sreta
=foea i i whal @ |

9. ft 1% &1 F Fadd I -JRETH F = & wE
2

10. Fae IS AT 94 I9 9 & foe v = |

TG-05/C

32

_No second question booklet shall be given

_ A candidate has to attempt 125 questions.

. Before filling the answer sheet, the candidate

. The candidate has to choose best suitable

. In no case any paper from the question booklet

. The candidate shall not bring any loose paper,

- All rough work should be done inside the

10. Only use black ball pen for filling answers.

4&‘
0. O

to any candidate under any circumstances
except any discrepancy in question booklet.

The candidate should be careful in handling the
question booklet and filling the answer sheet.

All the questions are compulsory. There is no
negative marking for wrong answer.

should read carefully the important instructions

given on answer sheet.

alternative out of the four alternatives given and
mark on the OMR answer sheet according to
the instructions given in the answer sheet.

should be separated.

whether written or blank, except the admit card,
inside the examination hall. If any candidate is
found having any loose paper, notes, books,
calculator, slide rule, mobile phone etc. with
him/her in the examination hall, he/she will be
liable to be punished for use of unfair means.

question booklet only.
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